1. 2R & A+B— C+D #ik % % K rate=k[A][B] > k=100 M"'s" - {5 3% i 47 3% R M o5 » Ae 45 R
E[Al,=0.001 M- [Bl,=01M>g8 - (In2=0.693)
(A) 100s 8 > [A]=10"M
(B) & — % (pseudo-first order) & J& i& % ¥ 2 kops = 0.1 s!
(C) st R &t 3+ 4 # (half life) z 0.0693 s
(D) % #[Alo42 7 & 0.005M > R i th % — 4 ik % % 3 kop =50 s

g2 i 2 & Page 14-16 LA AP
2017 -2018 & #F R A B Ak B 4 4%

B8+ BB REHREEELR BRIt E
208K 1% > X REHFBASL  A+B+2C — 2D +3E

\ A[A] 2
SR 9k F AR A ¢ Rate = ———= = k[A][B]
RERT 9[Alo=1.0x102 M~ [Blo=3.0M Z[Clo=2.0 M - % R JE 4T 8.0 #4% » RIE4 A &

BT 38I0°M» Al :

(a) FHFH A RIEB K &




29. # 0 °C F : indole #v bromine % dioxane ¥ R & » F oL A REH X Z F 4 9

(A) 2-bromoindole (B) 3-bromoindole (C) 4-bromoindole (D) 5-bromoindole
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1. When indole is treated with bromine is dioxane at 0°C, the major organic product is.
(A) 2-bromoindole (B) 3-bromoindole (C) 4-bromoindole
(D) 5-bromoindole (E) 6-bromoindole
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2. What product will be given if indole is reacted with bromine at 0°C in dioxane?
(A) 2-bromoindole (B) 3-bromoindole (C) 4-bromoindole
(D) 5-bromoindole (E) none of the above
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30. % 2-methylcyclohexanone £ #x /L T L@ E DORE » €A 4B DEFwARAHLLSH T ?
(A) 0 B) 1 (C) 2 (D) 3
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© When 2-methylcyclohexanone is treated with catalytic base in excess D,0, how many
deuterium atoms become incorporated in the organic compound?

(A)0 (B) 1 (©)2 (D)3 (E) 5
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32. F 7|47 4 & & &% (amino acid) & JF £ % (achiral) ?
(A) Alanine (B) Glycine (C) Lysine (D) Valine
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2. Which g-amino acid is not optical active? H/,_ R
H,N  COOH
(A)R=H (B)R=CH; (C) R =CH(CH,),
(DR = HZC@ (E)R= HzCOOH
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3. Which of the standard amino acids is achiral?

(A) Lysine (B) Proline (C) Valine (D) Alanine (E) Glycine
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